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1.	 m ⊗ n = (m + n)2 – (m – n)2

(ñ2 ⊗ (ñ2 ⊗ (ñ2 ⊗ ñ2))) = ?
	
	
ñ2 ⊗ ñ2	= (ñ2 + ñ2)2 – (ñ2 – ñ2)2

	 = (2ñ2)2 = 8
•	 (ñ2 ⊗ (ñ2 ⊗ 8)
		
	
	 ñ2 ⊗ 8 = (ñ2 + 8)2 – (ñ2 – 8)2

		  = (ñ2 + 8 + ñ2 – 8).(ñ2 + 8 – ñ2 + 8)
		  = 2ñ2 . 16 = 32ñ2
•	 ñ2 ⊗ 32ñ2	 = (ñ2 + 32ñ2)2 – (ñ2 – 32ñ2)
		  = (ñ2+32ñ2+ñ2–32ñ2)(ñ2+32ñ2–ñ2+32ñ2)
		  = (2ñ2).(64ñ2)
		  = 128.2 = 256 = 28

Cevap: D

2.	 (x, y) ∆ (z, t) = (xt – z,   yt + z)
(m,n) ∆ (5, 1) = (–3, 7)
(m.1 – 5 ,   n.1 + 5) = (–3, 7)
	 m – 5	= –3   ,	 n + 5	= 7
	 m	= 2	 n	= 2
	 m + n = 2 + 2 = 4   bulunur.

Cevap: D

3.	 m ⊗ n = mn – 1
32⊗5 ⊗ 31⊗4 = ?
i)	 2 ⊗ 5 = 2.5 – 1 = 9
ii)	 1 ⊗ 4 = 1.4 – 1 = 3
	 39 ⊗ 33	= 39.33 – 1
		 = 312 – 1

Cevap: B

4.	 x ⊕ y = (x.y)y.x

x ⊗ y = x
y x
c m

1 ⊗ (2 ⊕ 3) = ?
2 ⊕ 3 = (2.3)3.2 = 66

1 ⊗ 66 = 1
66 1
c m  = 66

Cevap: D

5.	 b a a b
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Cevap: E

6.	 m ∆ n = 7m – 3n – 5
x ∆ x = x   ⇒   x = ?
x ∆ x = 7x – 3x – 5 = x
	 3x	= 5

	 x	= 3
5

Cevap: A
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7.	 a Y b = a + b

a 3 b = 
 a	 a.b < 0

	 –b	 a.b ≥ 0
(2 3 1) Y (2 3 (–1)) = ?
i)	 2 3 1 = –1
ii)	 2 3 (–1) = 2
	 –1 Y 2 = –1 + 2 = 1

Cevap: D

8.	 a 9 b = a2 7 b
a     

⇒  2 9 4 = ?
x 7 y = xy + 

y
1
x

2 9 4 = 22 7 4
2  = 4 7 2

1

4 7 2
1  = 4 2

1^ h  + 

2
1
1
4

c m
 = ñ4 + 

16
1
1

	 = 2 + 16 = 18
Cevap: B

9.	 a ⊗ b = 2a + 4b – 2(b ⊗ a)
⇒	 2 ⊗ 1 = 2.2 + 4.1 – 2(1 ⊗ 2)
	 1 ⊗ 2 = 2.1 + 4.2 – 2(2 ⊗ 1)
	 (1 ⊗ 2) = 10 – 2(2 ⊗ 1) 
O halde
	 2 ⊗ 1	= 4 + 4 – 2.(10 – 2(2 ⊗ 1)
	 2 ⊗ 1	= 8 – 20 + 4(2 ⊗ 1)
	 12	= 3(2 ⊗ 1)
	 4	= 2 ⊗ 1   bulunur.

Cevap: B

10.	 a ∇ c ⎕ d ο b = 
.

. .
d a c b
a c b d a

2- +

+ -

2 ∇ 1 ⎕ 3 ο 5 = 
.

. .
3 2 1 5
2 1 5 3 2

3 4 5
7 6

4
1

2- +

+ -
=
- +
-

=

Cevap: B

11.	 	 n
m 	 n ≥ m

m ◊ n =
 	 m

n 	 n < m

3
1

2
1

4
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c m
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Cevap: E

12.	 x ∆ y = y
x
3
2

(1 ∆ k) ∆ (k ∆ 1) = ?

•	 1 ∆ k = .
.
k k3

2 1
3
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•	 k ∆ 1 = .
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Cevap: D
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13.	 (x – 2) 4 (1 – y) = x – y + 4

3 2
2 3
4
4  = ?

•	 2 4 3 = 4 –(–2) + 4 = 4 + 2 + 4 = 10
	
	x – 2	= 2	 1 – y	= 3
	 x	= 4	 –2	= y
•	 3 4 2 = 5 – (–1) + 4 = 5 + 1 + 4 = 10
	
	x – 2	= 3	 1 – y	= 2
	 x	= 5	 –1	= y

O halde 10
10  = 1 bulunur.

Cevap: D

14.	 2a ∆ 3b = a.b + 2
16 ∆ 9 = ?
•	 2a = 16	 3b = 9
	 2a = 24  ⇒  a = 4	 3b = 32  ⇒  b = 2
O halde
16 ∆ 9 = 4.2 + 2 = 8 + 2 = 10  olur.

Cevap: E

15.	 	 a + b	 a ≤ b
a ∆ b = *

	b – a	 a > b

(–2 ∆ 4) ∆ (–1)
i)	 –2 ∆ 4 = a + b = –2 + 4 = 2
	 a < b

ii)	 2 ∆ (–1) = b –a = –1 – 2 = –3
	 a > b

Cevap: A

16.	 x ⊕ y = 
y
1
2  ⊗ 

x
1
2

x ⊗ y = .x y
x y+

y
1
2  ⊕ 

x
1
2  = 

y x

y x
1 1

1 1

2 2

2 2

$

+

 = 

.

.

x y

x y
x y

1
2 2

2 2

2 2+

 = x2 + y2

Cevap: B

17.	 a > 0          b > 0

a ) b = .
a b
a b
+

3
1  ) 5

2  = 2
1  ) m

3
1

5
2

3
1

5
2

5 3

$

+

^ ^h h

 = 
m

m

2
1
2
1
$

+

	

15
5 6
15
2

+
	= m

m

2
2 1
2
+

	 11
2 	= m

m
2 1+    ⇒   4m + 2 = 11m

	 2	= 7m

	 7
2 	= m

Cevap: C
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18.	 x
3  ∆ 

y
2  = 6x – y + 5

    6  ∆  a  = 14   ⇒   a = ?
   

x
3 	= 6	

y
2 	= a

	 x	= 2
1 	 y	= 2a

6 ∆ a = 6. 2
1  – 2a + 5 = 14

	 3 – 2a + 5	= 14
	 –6	= 2a
	 –3	= a   olur.

Cevap: B

19.	 a b 2
)^ h  = (ña + ñb)  ⇒  a ∗ b = a + b + .a b2 ’dir.

.a b a b a b
a b1 1 1

5
= + =

+   ⇒  a ⊕ b = .
a b
a b
+

’dir.

(1 ∗ 4) ⊕ 9 = ?

i)	 1 ∗ 4 = 1 + 4 + 2. .1 4  = 1 + 4 + 2.2 = 9

ii)	 9 ⊕ 9 = .
9 9
9 9

18
81

2
9

+
= =

Cevap: E

20.	 	 a – 2b	 a < b
a ⊙ b = *

	 2a – b	 a ≥ b
[2 ⊙ (–3)] ⊙ 8 = ?
   
2 ⊙ (–3) = 2a – b = 2.2 – (–3) = 4 + 3 = 7
a > b
7 ⊙ 8 = a – 2b = 7 – 2.8 = 7 – 16 = –9
a < b

Cevap: B


